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2)62 + 4x x3 — x2 +2

3 2 2
x +19x" +112x+ 192 2x° + 4x

3 2 3 2
x +10x" +21x+ 40 64x” + 384x" — 8lx — 486
35x° + 387x° + 684x + 324 18x° + 33x> — 136x + 80
9x” — 8lx 3x% + Ox
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2% + 4x
2x(x+ 2)

X +19x> + 112x + 192
(x+ 8)(x + 8)(x + 3)

X+ 10x% + 21x + 40
(x + 8)(x% + 2x + 5)

35x° + 387x° + 684x + 324
(5x+ 6)(x + 9)(7x + 6)

9x” — 8lx
Ox(x—9)

f&iep:

X=X +2
(x+ 1) — 2x+ 2)

2% + 4x
2x(x+ 2)

64x° + 384x° — 81x — 486
(8x+ 9)(x+ 6)(8x—9)

18x> + 33x> — 136x + 80
(6x— 5)(x + 4)(3x — 4)

3x% + Ox
3x(x+ 3)
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